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Answer Part-A which is compulsory and any four from Part-B.
The figures in the right hand margin indicate marks.
Answer all parts of a question at a place.

Part — A (Answer all the guestions)
Answer the following questions:
If the current drawn by a DC series motor increased from 104 to 124, what is
the change in torque expressed as a percentage of initial forgque?
a. 21% B. 25%
c. 41% d. 44%
The brush axis of a dc shunt generator is rotated by an angle 'a’ from the
GNA. The torque developed will be proportional to
a, sina b. cosa
c. land d, cosZd
Two de machines are mechanically coupled. One is operating as motor and
the aother as generator. The iron and frictional losses of the machines will be
identical when:
a.  Their speeds are identical

¢. Their speeds and armature current are equal.

b. Their speeds and excitation are identical.

d. Their armature sizes are agual.

In a dc generator the critical resistance can be increased by

a. Increasing its field resistance b, Increasing its speed

c. Decreasing its field resistance d. Decreasing its speed
Armature coil is short circuited by brushes when it lies

a. Along neutral axis b.  Along field axis

. Along GNA d. Along d-Axis

An over exciled alternator operates at —_prlbg __reactive
power.

a. Lagging, delivering b. Leading, delivering

¢. Lagging, consuming d. Leading, consuming

Active power of an alternator can be varied by

a. hanging fizld excilation k. Changing prime mover speed
c. Changing the power factor d. Anyone of the above

An electromechanical energy conversion device has cylindrical stator but
salient pole rotor. If & is the angle between stator field and rotar field, the
average torque developed is  proportional  lo (A and B are
constants).

a. Asind b, AsinZd

c. Asind+BsinZd d. &

In a salient pole synchronous motor, the developed reluctance torgue attains
the maximum value when the load angle in electrical degrees Is

a. 0 b. 45

c. BO d. 90
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